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IO DIRE

IO BERE

LEI DIRE

LEI BERE

IO USCIRE

IO SAPERE

IO VOLERE
NOI SAPERE
TU MENTIRE
VOI ESSERE
NOI ESSERE
TU SCENDERE
IO SCRIVERE
LORO VOLERE
IO SCENDERE
VOI RIMANERE
LORO RIMANERE
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TU DIRE

TU FARE

VOI FARE

NOI BERE

TU VOLERE

IO ESSERE

TU SAPERE
NOI VOLERE
LEI ESSERE
IO MENTIRE
LEI VOLERE
LORO ESSERE
TU SCRIVERE
LEI MENTIRE
TU CONOSCERE
LEI RIMANERE
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TU BERE

LEI FARE

VOI BERE

VOI DIRE

TU USCIRE

TU ESSERE

IO CORRERE
TU CORRERE
LEI SAPERE
LEI USCIRE
NOI MENTIRE
TU MANGIARE
VOI MENTIRE
LEI CORRERE
LEI MANGIARE
LORO GUARDARE
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